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Section -- A

1. ISMF T & ST B & 2

Who is the founder of scientific management ?
2. Ude H TaYdd] bl FHESY |

Explain innovation in management.

3. TRIT URdTg & ST R FHSId © ?

What do you mean by impied contract ?

4. TOIUC T SHER ¥ R g1V | (PIS TH)

What is the difference between agent and contractor. (Any one)
5. U10 X Ud HEdl & IATAR ISHAT I GRATST EIRT |
Give definition of entrepreneurship according to Professor Rao and Mehta ?
6. Ucb ST BT URSHl B9 I ATaGWID & ?

Why is it essential for the entrepreneur to be hard working ?

7. 99T UF & 7 el ® 2

What do you mean by insurance policy ?

8. T Ifieal | oMY w7 FHSI § ?

What do you mean by insurance agent ?

9. R H WAl PR Hd AT BI;T ?

When was service tax implemented in India ?

10. WAYH fdshd—dHR IR & DI A I H AN BIM?

In which state did the law of sale tax come into force for the first time in India?
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{1}

{1}

{1}

{1}

{1}

{1}

{1}

{1}

{1}
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Section --B
11. a9 FaAMdl g7 WK I |
“‘Management is universal”.Explain. {2}
12. T YR Yeud &I 31 faermang forRay |
Write two features of a professional manager. {2}
13. WRAIC IS | o7 3fmery 2 2
What do you mean by surrogate advertising ? {2}

14, 491 TE FET € HIT 3MY SH HAT H HWEAd © ?
‘Insurance is not a donation” Do you agree with the statement? {2}

15. Uh oY 31 & QI olefu garsy |

Explain two elements of a valid contract. {2}
16. ‘SlreT w1 B ?
What is coercion ? {2}

17. T 3BT T H ST b IgeR & ? FHSSU |

Do you opine that entrepreneurship is a practice? Explain. {2}
18. 'SI.TH.EY I 3T RIT FHIA & 2

What do you mean by G.S.T. ? {2}
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Section --C

19. USG9 B fbsl IR HAERID BT Bl WL I |

Explain any four subsidiary functions of management. {4}

20. BRI BATA gRT Gfauriad el & Rigrd * g "R & g’ &l WK
BT |

Explain the ‘principle of order’ and ‘principle of discipline’ according to

Hanery fayol. {4}
21. Il ERT UdY § HAT &I B el AR Al BT quid BHIfT |
Describe four advantages of organisation in management by objective. {4}

22. IO U9 & DIg AR BRI WK DT |
Explain any four functions of marketing management. {4}
23. 91 &1 AR AR SYATRIATR BT 9o BTy |

Describe any four social utilities of insurance. {4}

24. IUHAT [AHNT BRIHA & I WL HINY | (B3 AR)

Explain objectives of entrepreneurship development programme. (Any four) {4}
25. 3T U Y&erdh 8 | Uded & ©T § SHaiRal & Ui dqHrfere qiial & 99y |

You are a manager. Explain the social responsibilities of the manager unto the

empliyees {4}
26. Y9 & AMINIG QI & 7F 9918y |
Draw a diagram of social responsibilities in management. {4}

27. SITAE. & I MUy BT Sl fAa=OR IRgd w3 81t & ?
I BHIFY |

Which returns a trader ought to submit under G.S.T. ? Elaborate. {4}
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Section -- D

28. U9 O Y T FHSId & ? g9 fhol ure faeivdmsn &1 guiq Hifdm |

3T
JUaTE gRT YdY ¥ 39 T FHSA & 2 SHd Uid ol &1 9uid DIy {1+5)
What do you mean by management ? Explain any five characteristics of managment. {1+5}

OR

What do you mean by ‘management by exception’? Describe its five advantages. {1+5}

29. HFT 39 Y& fATar & | 9 9em & fog =maiiRal &1 sMdfid & 7q MY Hil
fafer SR | gema Y |

3rerat
U fashd Ueed & WU W 379 Gl de B 99U & SIF—dI= | AIH U
=T |

Assume you are a manufacturer Which of the sales promotion methods would you adopt to

attract the tarders ? Give suggestions. {6}
OR
As a sales manager which of the medium of advertisement would you like to use to increase
the sales? {6}
30. ol 9 T A 8 ? U Yoic & Ui STEdRI T quid HIfTY |
AT
gfihel ¥ &7 3R 2 ? 39 Y UIaETEl &1 auid HIfY | (H1s i)
What is meant by agency? Enumerate five rights of an agent. {1+5}
OR

What is meant by consideration? Describe its main provisions. (Any five) {1+5}
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